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1) a)  1 ଵ

ଷ
 

 b)  ଷ
ଵଵ

 

 c)  1 ଶ
ହ
 

2) a)  0.0114 
 b)  3000 
 c)  0.00000081 
3) a)  550 
 b)  304.05 
4)   x=1 
5)   𝑥 ≤ −0.8 
6)   𝑥 = 11, 𝑦 = 4 
7)   17.8 
8)   32.5% 
9)   134° 
10)  ଵ଴ଵ଻ିଽିଶ×ଽ଴

ଷ
= 828 

   ଼ଶ଼
ଷ

= 276 
   So 375 pages 
11)a)  𝑃𝐵𝑆 = 𝑆𝑃𝐵 = 45° as ABC is isosceles.  
   So triangle PBS is isosceles and BS = x 

   ௫మ

ଶ
 

 b)  Similarly area of APQ = ௬
మ

ସ
 (split APQ vertically) 

 c)  ௬మ

ସ
+ 2 × ௫మ

ଶ
+ 𝑥𝑦 = 225 

   ଵ଺௫మ

ସ
+ 𝑥ଶ + 4𝑥ଶ = 225 

   9𝑥ଶ = 225 
   𝑥 = 5𝑐𝑚 
12)a)  6 edges 
 b)  8 vertices, 12 edges 
 c)  6 vertices, 12 edges 
 d)  ଵଶ×ହାଶ଴×଺

ଷ
= 60 vertices (‘each vertex is counted 3 times’), and ଵଶ×ହାଶ଴×଺

ଶ
= 90 

edges (‘each edge is counted twice’) 
13)a)  ଶ௫ାଶ

ଶ
= 𝑥 + 1 

 b)  𝑂𝐵 = 𝑂𝐶 − 𝐵𝐶 = 𝑥 + 1 − 2 = 𝑥 − 1 
 c)  𝐵𝐷ଶ = 𝑂𝐷ଶ − 𝑂𝐵ଶ = (𝑥 + 1)ଶ − (𝑥 − 1)ଶ = 4𝑥 
 d)  122𝜋 = 𝜋𝑟 (half of circumference) 
   122 = 𝑟 
   122 = 𝑥 + 1 
   𝑥 = 121 
   𝐵𝐷 = 2√𝑥 = 2 × 11 = 22 
14)a)  ௠

଺
= ௡

ଵଵ
 (𝑏𝑜𝑡ℎ 𝑡ℎ𝑜𝑠𝑒 𝑡ℎ𝑖𝑛𝑔𝑠 𝑎𝑟𝑒 ′𝑜𝑛𝑒 𝑝𝑎𝑟𝑡′ 𝑠𝑜 11𝑚 = 6𝑛 

 b)  ௠ିଷ
ଷ

= ௡ାଵସ
଻

 𝑠𝑜 7𝑚 − 21 = 3𝑛 + 42 𝑠𝑜 7𝑚 − 3𝑛 = 63 



 c)  𝑚 = 42, 𝑛 = 77  
15)a)  ଶସଷ

ଵ.ଶାଵ.ହ
= 90 

   90 × 1.2 = 108𝑚 
 b)  ଶସଷ×ଷ

ଵ.ଶାଵ.ହ
= 270𝑠 until meet for the second time 

   ଶସଷ
ଵ.ଶ

= 202.5 
   270 − 202.5 = 67.5𝑠 
 c)  5c-1000 
 
 
 
 
 
 
  


